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4( Multiplg three or more numbers )7

Multiply the following. (follow the example).

A. 12x9x33 B. 1532 x 1¢ 5 C.!191x 32|x 15 D. 150/x 20(x 10

= 108 =
12 X %3 182 "
A x | 9 32 4 [A) x | 5
10 8 + 2.0 40 o .
5.5 6 4
I 1 9 B = 150 =
X ) X 20
O (A ]
(5]

fter Multiplying each of the following numbers, tick the correct answer.

E. 1,4 710 [ 671,500 E. 410 [] 26,286,000
10 290
X 4 5 P 661,505 X 79 % ﬁ 2,648,000
P 661,500 F 26,686,000
G. 7 0 F 471,750 H. 21 ] 945,000
1,405 30
X 5 F] 491,750 X 1,5 0 0 [7] 955,000
F 490,750 D 9,450,000
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Name: Class: ...
7[ Multiply three or more numbers )7
Multiply the followin
A. 12 x9x33 B. 132 x10 X5 C. 119 x B2|x 15 D. 150 x 20/ x 10
(5 10 8 [~ 7 6 0O
12 X 53 15 2 X 10
L O x |9 324 0O X S 0
10 8 + 13,2 4 O 76 0 4 + 7.6 @ @
3,56 4 7:;6 9 ©
= = |
B 1 9 I 6 0 8 i 13 @ [ 4 O Qe
X g 2 X 1 5 X 2 0 e 10
O 5 8 3,040 (A) 0 0O Q.9 0|0
cf 5 70 c_,+6,O80 + 5.0 ([ 0 Y +30,000
B 5 0 8 L | z. 000
9.1 20 %0, 0 0Q
fter Multiplying each of the following numbers, tick the correct answer.
E. 1.4 7l 0 [] e71,500 F. 410 /1 26,486,000
10 2|0/ 0
X 4 5 ] s61505 X 32 3 E 2,648,000
661,500 MGG,SOD 26,486,000 [] 26,686,000
G. 7l 0 F 471,750 H. 3 /|| 945,000
1,400 5 310
X 5 /1| 491,750 X 1.5 6110 955,000
491,750 D 490,750 945,000 9,450,000
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